C:# Divisione verticale Nome:

Risolvi ogni problema. Risposte
1) 2) 3)

80720 50[600 80833 "

4) 5) 6)

50[600 80[555 50[200 ;

10.

7) 8) 9

60580 30[900 40[801 "

12.

10) 11) 12)

10[470 50(368 90[284

1 1-10 | 9283 75|67 [58[50] 4233|2517 |
11-12[ 8] 0
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Divisione verticale Nome: Soluzioni
Risolvi ogni problema. Risposte
1) 9 2) 12 3) 10r33 9
80[720 50[600 80[833 "
0 0 0 . 12
72 60 83
0 50 80 3 10r33
720 100 33 \ 12
720 100 0
0 0 33 5 6r75
4) 12 5) 6175 6) 4 4
50[600 80[555 50[200 i
0 0 0 7. 9r40
60 55 20
50 0 0 8 30
100 555 200 X 2011
100 480 200
0 75 0 0 47
7) 9r40 8) 30 9) 20r1 . 7r18
60580 30[900 40[801 |
0 0 0 »  3rl4
58 90 80
0 90 80
580 00 01
540 0 0
40 0 1
10) 47 11) 7118 12) 3rl4
10[470 50(368 90[284
0 0 0
47 36 28
40 0 0
70 368 284
70 350 270
0 18 14
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Divisione verticale

Nome:

Risolvi ogni problema. Risposte
12 4 6 175
10 r33 12 9
20 r1 9 r40 30
1) 2) 3)
80(720 50600 80833
4) 5) 6)
50600 80555 501200
7) 8) 9)
60580 30(900 40801
- Semplificato 19 [89]78]67]56[44[33[22]11] 0 |
[M atematlca] o o 1
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